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HE 13,7972 * 150% * 62 * 15AI2F » 122 22,352 21,717 635
Il
HE 10,3762  150% » 49 * 152 9,934 9,652 282
—oIXIRE BT
AT 110,376% * 62 * 152 9,934 9,652 28
—HUZAH B 140,008 * 62 128 10,080 9,360 720
OsI12 %2, 2(7Y) 333, 168 35,317 7,841
—Ji=2 A 2,557,050 * 79 122 214,793 210,639 4,154
—HEEH|
A 2,557,0002 * 75% * 72 * 23] 26,850 26,330 520
—HIAY 2,557,050 % %+ 7% * 23] 1,074 0 1,074
—AtelaR g
B 14,9122« 150% * 72 * 15AI2F » 122 28, 184 27,591 593
—gaeAg
HE 119,206% * 150% » 79 * 152 18,790 18,39 3%
—SIXREZ BIY
AT 19,2069 * 79 * 152 12,527 12,263 264
—HUZAY  FH 140,008 * 7Y * 122 11,760 0,920 840
EET 258,264 276,100 A 17,836
=2 258,264 276,100 A 17,836
201 Yk 161,199 169,650 £8,451
01 AF= 22l 76,059 84,510 8,451
OSASX PY(MAEY)  ZF 2,840,002 2,840 3,840 A1,000
OS20HALI(0IAHEY) 2% 5,829,002 5,829 10,080 £4,251
OYLBrE22(0IAE) 23 1,000,002 1,000 1,200 £200
OARR 44| 6,250 8,750 £2,500
—=AD| 20(0HE) (0 4=
2% 700,00024 700 1,000 £300
—=AD| EU (A=) A3 700,002 700 1,000 £300
—Delf EU(S9)(0 4=
A3 2,100,009 2,100 4,000 21,900
OJIEH AIRBIRIBI(OIAIE) 2 700,0002 700 1,200 A500
202 it 74,520 82,800 8,280
01 =LHoib] 74,520 82,800 8,280
SUFM AREX 01| 74,520 82,800 8,280
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R ==PIEN=
Ha: oHHOOﬂtﬂ(;@gaﬂr)(ma/ma)
ool Jl=Ay| (S5l =E)
SA - ZH - AA(3) - MIRAY - BHAS O &K I BN HwsS2
S EICYSE=ED) 2= 16,920,000 6,920 25,200 8,280
203 22 EZIY| 9,945 11,050 A1,105
0l JZegdesxy| 2,673 2,970 297
OSIIZHEAT JIB2SHADET| (AR
2 2,673,000 2,673 2,970 £297
02 AL ETIY| 3,492 3,880 A8
OFAINAIALTI| (O AE)
3,492,000 3,492 3,880 A8
04 BASLALEZIY| 3,780 4,200 420
ORNSHALEI| (SATMD) (HIAE)
2 3,780,000 3,780 4,200 A420
HRES(SLIISHE) (S5 - 5&) 1,954,504 1,200,000 754,504
SHNE 754,504 754,504
SHENE 754,594 0 754,594
802 BHat2I|E} 754,594 0 754,594
01 2Exaure= 518,047 0 518,047
OL=F<Ehn! 28,433 0 28,433
—20201 & 12,494 0 12,494
SENHEA0IS BEIIANR AL
1,538,8002 * 14! 1,539 0 1,539
CSADSESINE  10,926,5002 * 14 10,927 0 10,927
- TAIDISESIIXIZ (01X
27,4802 * 141 28 28
—2019E % 15,939 15,939
AZEZIIBAAR AL
14,198,5602 * 141 14,199 0 14,199
- AFEBIIDAMASAAR(0IT)
52,2402 * 14! 53 0 53
22 FEs2RH KUY
1,666,6702 * 14! 1,667 0 1,667
B3 HEs2H K01
19,0002 * 14! 20 0 20
OF 8=t 422,582 0 422,582
—2020E 5 422,582 0 422,582
- SR 162,589,2202 * 14! 162,590 0 162,590
LN 113,860,650 * 14! 113,861 0 113,861
CSIISATMRIAIY 739, 1702 * 14 740 0 740
- RIS XU AR (01 KH)
15,8602 * 14! 16 0 16
- =EFRS TR ALY
17,045,5502 * 144 17,046 17,046
- THBHCH=AH) 3,850,008 * 1Al 3,850 3,850
- ZOIEFRF X SH AL 2RI
20,993,9502 * 14 20,994 0 20,994
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2A: SIS HE
M. NHLES(sYI|=dH)(sHillYiHsY - s&5)
29 TENE (Sr9): @)
SA - M AA(SH) - HIRAY - BES Off &boH J 3 Hnsz2
I2EBASINTRES
26,813,130 » 14l 26,814 26,814
=E2EIMIEM 2,500,260 * 14l 2,501 2,501
SEXZ(0IA) MAAILS UNSHXI2
35,222,220 * 14| 35,223 0 35,223
- EZX2(QIA) MAAI LB HEHKIR (01X
46,1408 * 124 47 0 47
- DEHIDFRITHHHAIE X2
38,900,000 * 14l 38,900 38,900
OFt 67,032 67,032
—20199 & 39,200 0 39,200
IIERL HSNES KA
39,200,000 * 14| 39,200 39,200
—2018H 2,100 2,100
- JIEEL MelAIE(HHIMEE JHE4)
X2 AF 1,800,000 * 14| 1,800 0 1,800
SN TEERS XY
300,0008 * 14l 300 0 300
—20179 < 25,391 0 25,391
- SAAIE BUISAFY 7,219,000 * 14 7,219 0 7,219
SAAIE SUSIAIE (012 sE CCTV)
18,171,600 * 14| 18,172 0 18,172
—2013H % 341 0 341
HISXI2 (8t2) (01X 340,710 * 14| 341 0 341
02 Al - CHIBZ 33 234,733 0 234,733
OsgEMY 70,681 0 70,681
—2020E & 65,910 0 65,910
CASERIIXI 3,277,950 * 14| 3,278 0 3,278
CAIRISES XX (0IX)
8,2409 * 124l 9 0 9
SEMNSZZEHS X2
1,950,000 * 14| 1,950 0 1,950
DRLHY QBIIE SEXSTZ KA
18,661,500 * 14| 18,662 0 18,662
SXNSTWHZE2 XA
38,301,710& = 14l 38,302 0 38,302
SIS XIRAIY
1,833,9509 * 124l 1,834 0 1,834
Ol s0l H=HIRH KIRA
1,874,630 * 14| 1,875 1,875
—20199 < 4,771 4,771
IFZIISAASHAIL
4,259,570 * 14l 4,260 0 4,260
AT BALS AL (01X}
15,6702 * 14| 16 0 16
3% FES2H X
490,000 * 14l 490 0 490




S Sei|EHIE
B PEE (S0 SME) (SRS 5L - SE
ol PN (el &)
SA - H . SR(BH) - MPAY - BES Ofl by plE<Ll AImE=ST
= T
4,880 * 14 5 0 5
OzlgZd =gt 128,681 0 128,681
—20209 = 128,681 0 128,681
- ELHE M XIRAALS 25,333,800& » 14l 25,334 0 25,334
S E=Te =L 26,104,5002 * 141 26,195 0 26,195
CSIISARTUKIZAIY 33,5602 * 141 334 0 3%
SIS AT AL (01T
7,140 » 14 8 0 8
- EERRETHUNKI R ALY
1,278,670& » 14l 1,279 1,279
- KHoHCHZHH| 825,000& = 14! 825 825
CHREDINAIY(ARR)
6,300,000 * 14| 6,300 0 6,300
- WS RIENAAL OHELURS)
2,683,300& * 14! 2,689 0 2,689
Y SNBUBSLLENR
1,894,410& » 14 1,895 0 1,895
AHITEE = MBI A
4,174,303 * 14! 4,175 0 4,175
e e R LT L]
1,917,180& = 14! 1,918 0 1,918
NEREE NI EIGERES])
1,500,000 * 14] 1,500 1,500
MEHsSIHEE XA 1,309,720& * 14! 1,310 1,310
HEATHHE T Z A ALY
4,709,370& = 14l 4,710 0 4,710
L RS E(O12) IIGHL ALY
1,078,160& = 14! 1,079 0 1,079
F SERS(0I4) MAAI LB HEI
15,850,000& * 14l 15,850 0 15,850
 SEX2(QIA) MAAILEOBIXIR (01X
20,7603 * 14 21 0 21
- DEHIDRTHUHAI & I
17,505,000& * 14l 17,505 0 17,505
- ASMASLRIA 8,079,220 14l 8,080 0 8,080
- ASHAIFLHAA 7,673,400& * 14! 7,674 0 7,674
O=4tt 18,562 0 18,562
—20199 S 11,760 0 11,760
B2 BIIES N/
11,760,000 * 14 11,760 0 11,760
—20184 & 1,350 0 1,350
OFERh HRIAE(MHINEE H2)
KI&A 1,350,000& 14 1,350 1,350
—201749 = 5,452 5,452
- EANE EUSAIRIOI3SE CCTV)
5,452,000& * 14! 5,452 0 5,452
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S Sei|EHIE
B RS (50 SUE) (SEHLS/ 5L - 5E)
29 TENE (Sr9): @)
S - FE . SRI(EIH) - HISARY - BAS 0l &kt plE<Lt HlmS2
Os=xc 14,226 0 14,226
— 20206 14,226 0 14,226
L EAE S 22 N2
72,6008 * 14] 73 0 73
SIIH YOHANA QIEl KRl
1,820,008 * 14] 1,821 0 1,821
SENCH DHES X2 6,000 0 6,000
Yrs NS2YH 2YsH Al
4,800,000 * 14| 4,800 0 4,800
SE0lM YN2IHE HENAHS DS
835,200 * 14| 8% 0 8%
MEONME TOIBl &I N
696,002 * 14 6% 0 6%
SR 2,583 0 2,563
— 20204 1,983 0 1,983
SH2 YHE 02 YHS 2
483,002 * 14! 483 0 483
MER0) Ol DS 1,500,002 * 14 1,500 0 1,500
—2019E s 600 0 600
IS5t Al Ate! 600,000 * 14 600 0 600
PIEEEEE 1,814 0 1,814
OREPSAD 1,814 0 1,814
~20198 1,814 0 1,814
BADEE AILEUSAIY
1,813,3702 * 14] 1,814 0 1,814
HERsY ABA(SEHYSN/ 5D - 5E) 23,342,860 25,249,835 1,906,975
3 1,488,533 2,626,110 A1,137,577
] 18,655,068 19,290,068 635,000
= 495,572 507,867 A102,315
Al 2,708,687 2,735,770 £32,083
PR TSINE 23,342,860 25,249,835 1,906,975
2 1,488,533 2,626,110 A1,187,577
] 18,655,068 19,290,068 635,000
= 495,572 507,887 A102,315
Al 2,703,687 2,735,770 £32,083
TN EE 16,476 17,608 INRZ
201 ger2gy 1,476 1,640 N
01 A2l 1,476 1,640 N
OnREPSAS BB, FAIS US| S B2
HAIZ HE(GIAE) A 63,0002 636 800 N
301 LBHPHI 9,467 10,430 1963
CEICSEEE 8,667 9,630 963
OnFls MFIZDS X S&E Ht ot
CIEED A 2,277,008 2,277 3,240 £963
(2)VELHSH K 269,285 1,299,768 1,080,483
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S SIS HIE
HE: HEAse ASA(SHYS/ 5 - SE)
ool FEHse A (=E =)
SA - H . SR(BH) - MPAY - BES Ofl At plE<Ll HIRE2
= 196,589 1,095,392 898,803
< 14,539 104,376 289,837
Al 58,157 100,000 A41,843
402 212EXH201 M 269,285 1,299,768 1,030,483
= 196,569 1,095,302 £898,803
< 14,539 104,376 A89,837
Al 58,157 100,000 A41,843
02 QIZHHEAIH B (01X THA) 269,285 1,299,768 21,030,483
OELMEH KIJA 2E 269,285,000& 269,285 1,299,768 21,030,483
= 196,589 1,095,392 A898,803
< 14,539 104,376 N\89,837
Al 58,157 100,000 A41,843
(2)RIIELIZ K& 2,598,000 2,902,400 A304,400
= 1,198,800 1,439,000 A240,200
= 239,760 259,020 £19,260
Al 1,159,440 1,204,380 44,940
402 QIZHRHE0| A 2,598,000 2,902,400 A304,400
= 1,198,800 1,439,000 A240,200
< 239,760 259,020 19,260
Al 1,159,440 1,204,380 244,940
02 QI AIH B (01X THA) 2,598,000 2,902,400 A304,400
ORJIIEHIZ KNJAA Z2& 2,598,000,000& 2,598,000 2,902,400 A304,400
= 1,198,800 1,439,000 A240,200
= 239,760 259,020 £19,260
Al 1,159,440 1,204,380 244,940
()RFI=LIM XA 20,610 17,046 3,564
= 8,244 6,818 1,426
= 3,710 3,069 641
Al 8,656 7,159 1,497
402 2I2EXH201 M 20,610 17,046 3,564
2 8,244 6.818 1,426
= 3,710 3,069 641
Al 8,656 7,159 1,497
02 QIZHHEAIH S (01X THA) 20,610 17,046 3,564
ORIN=SRM KA Z& 20,610,000 20,610 17,046 3,564
= 8,244 6,818 1,426
& 3,710 3,089 641
Al 8,656 7,159 1,497
BT E RSN 22,917 19,510 3,407
= 6,875 5,853 1,022
Al 16,042 13,657 2,385
301 LEIBES 22,917 19,510 3,407
& 6,875 5,853 1,022
Al 16,042 13,657 2,385
12 JIEtE A= 22,917 19,510 3,407
OUBASH20IZ U RIIBOIZ SaY|
a3 22,917,000& 22,917 19,510 3,407
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2N s8I|I=HH
MR NEAZY ASAY(SRHLSL/ Y - =E)
el 2EEsY S (G2 & &)
2 - Z2 - 2 (Z[H) - MRAR - BAS O AkoH J|HH Hlns2
& 6,875 5,853 1,022
Al 16,042 13,657 2,385
(Z)XEFsASTHY UK 12,600 5,536 7,064
& 3,780 1,661 2,119
Al 8,820 3,875 4,945
301 LPBES 12,600 5,536 7,064
& 3,780 1,661 2,119
Al 8,820 3,875 4,945
12 JIEIE A3 12,600 5,536 7,064
O stdsitE2 B2 S
33 12,600,000 12,600 5,536 7,064
& 3,780 1,661 2,119
Al 8,820 3,875 4,945
(R)sZ=0ESHEHSE X 80,000 40,000 40,000
= 40,000 40,000 0
Al 40,000 0 40,000
307 QI2+0|A 80,000 40,000 40,000
= 40,000 40,000 0
Al 40,000 0 40,000
02 BIZHEAAIHE X 80,000 40,000 40,000
OsECIESHMEE 29X
Z& 80,000,000 80,000 40,000 40,000
= 40,000 40,000 0
Al 40,000 0 40,000
(2|28 SUSXIEHXEH 18,509,000 19, 144,000 A635,000
J| 18,509,000 19, 144,000 A635,000
301 LPBEAES 18,509,000 19, 144,000 A635,000
J| 18,509,000 19, 144,000 635,000
12 J|EtE A= 18,509,000 19, 144,000 A635,000
OJ |2 s8UsS8EE X2
43 18,509,000,000& 18,509,000 19, 144,000 A635,000
| 18,509,000 19, 144,000 A635,000
(T)EEL2LBHCMSHOIHE XS 10,000 0 10,000
& 3,000 0 3,000
Al 7,000 0 7,000
307 QIZ2+0|A 10,000 0 10,000
& 3,000 0 3,000
Al 7,000 0 7,000
02 DIZHEAIAIAE X 10,000 0 10,000
Or=SsDHCHERHLTE
20,000,000& * 1JHA = 50/100 10,000 10,000
= 3,000 0 3,000
Al 7,000 0 7,000
202 Il (sHolYsbt/ s - s5) 4,253,546 3,687,444 566, 102
= 425,000 425,000 0
J| 366,600 346,600 20,000
= 483,267 474,267 9,000
Al 2,978,679 2,441,577 537,102
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A

sgJl=dE

Hu: S JIENL(SYHYL/ 5 - 5E)
ol DSBS (Sr9: &)
A - B SR(Z) - MRAY - BES Ol &k OH JEH Hws2
DB A3 4,129,496 3,563,39% 566, 102
2 425,000 425,000 0
gl 366,600 346,600 20,000
< 483,267 474,267 9,000
Al 2,854,629 2,317,527 537,102
DesHBH Lot 14,602 0 14,602
201 B2 7,578 0 7,578
01 AF= 2l 3,078 0 3,078
OFTA DEIAIS SHSAIY DSXE L 40
R (ZZHE) 810,002 * 14! 810 0 810
OYEMD RENE SEH BE HHLL(XH
oHE) 2,268,0002 * 14! 2,268 2,268
03 A2 4,500 4,500
OYFATLE T2 o 25 N2 (ZHIHE)
4,500,002 * 14! 4,500 0 4,500
301 LBEES 7,024 7,024
09 EAFIUIN RS 7,024 0 7,024
OYZNVLH 3& BAK 24 NA(XH
oHE) 2,520,0002! * 14! 2,520 0 2,520
OYFEAD SAIRIAE HTIK| 215t Ofyl (XX
oHE) 3,402,000 * 14! 3,40 0 3,40
OYFAD SATIAE Fslo] FAT Oyl
(ZEDHE) 1,102,002 * 141 1,102 0 1,102
D WY SI N 1,030,854 756,354 274,500
307 2120 & 938,250 683,250 255,000
02 SIS HAIER 938,250 683,250 255,000
OYZEMD U3 KA (TS 50) (XX
oHE) 2,0002 * 127,500& Kt * 50/100 127,500 0 127,500
OYZAD RESF| NAAY(SES 50%)
(ZZDHE)  2,0008 * 127,5004%F * 50/100 127,500 0 127,500
402 QIEXF=0IF 81,000 61,500 19,500
01 CIRITH= AT B (RHAITHR) 81,000 61,500 19,500
ONSBAD MHIMA NRAR(BES 50%)
(XZDHB)  1,300,0002 * 3057t * 50/100 19,500 0 19,500
(2) DML LB X2 916,500 866,500 50,000
p] 366,600 346,600 20,000
= 164,970 165,970 9,000
Al 384,930 363,930 21,000
402 RIRIRH =01 916,500 866,500 50,000
p] 366,600 346,600 20,000
< 164,970 165,970 9,000
Al 384,930 363,930 21,000
02 BIRIRI= A 2 2 (01T ) 916,500 866,500 50,000
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SA: 2| HIEH

PSP O_]O1|7EL=' j|§thél—(_‘g_al':I5HOt_¢_/\}/_‘.—_%4 . _‘a—_ZTS)
2

A L E] (£19): &)
S - B BR(S) - NRAY - BES 0 st p[E<El HimE==T
O+ ZEE ANESHSIAL
23 1,833,000,000& * 14 = 50/100 916,500 866,500 50,000
J| 366,600 346,600 20,000
< 164,970 155,970 9,000
Al 384,930 363,930 21,000
(S)XHEAAD AIEAHC| 00 KI& 600,000 373,000 227,000
< 111,900 111,900 0
Al 488,100 261,100 227,000
307 QI2t01 & 600,000 373,000 227,000
= 111,900 111,900 0
Al 488,100 261,100 227,000
02 QIZHE&AHE X 600,000 373,000 227,000
OMSIA AEAC] 01X~
23 8,000& * 120,0004 Kt * 62.5/100 600,000 373,000 227,000
o= 111,900 111,900 0
Al 488,100 261,100 227,000
SRS MAD|BF DM (s 5Y - 5F) 2,916,905 2,791,286 125,619
Il 172,771 172,771 0
< 299,947 208,447 1,500
Al 2,444,187 2,320,068 124,119
SJ|ele ¥ 23t 973,542 932,923 40,619
QIAIAAL J|BtEtE 896,360 851,360 45,000
402 QIZERE0|1A 882,560 837,560 45,000
01 QIZEXH2 A 22 (KEHITHE) 882,560 837,560 45,000
O371214& NEDI|IXIAAY 45,000 0 45,000
~USBING, BlosusaEEsy
(BZ8 50%) 15,000,000 * * 50/100 45,000 0 45,000
Slelpsidt 29 47,382 51,763 24,381
101 21244| 2,282 4,563 A2,281
04 DI H2Z2RSE 2,282 4,563 AN2,281
OCIA=MDI12E & 212 2,282 0 2,282
—QIFe 69,7602 » 3% » 10 2,093 0 2,093
—40f 2=
69,760 » 3H » 10 » 9/100 189 0 189
OMFHIZIIQAAT IR} 01l
(E8Y A1) 0 4,563 A4,563
—2g8x 28 0 0 4,186 24,186
—40f B2 Z2E 0™ 0 377 A377
201 2Et2EH| 13,200 13,200 0
01 At2teld| 13,200 13,200 0
OE=EME 22 Mz 22 d2MED
PN I= 12,000,000& * 14! 12,000 0 12,000
OQIMAATE B3 =4 B2 N2MHED
AXNZ(SEN A 28 03 0 12,000 A 12,000
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PN S |=HH
M SIHEAZ MAD|EBE TH (SIS s - 5&)
©9l BDlolat BM 25 (SreEel)
2 -3 A2(ZH) - MIRAR - BES 0| AkoH J|&oH Hns2
206 MHZH] 26,000 28,000 22,000
01 MZH] 26,000 28,000 22,000
OCIAEHER £AT2 oA Y =20IEH0| M=
5,000,000 * 14l 5,000 0 5,000
OQIM=HEE AT HIYZE M
1002 * 80,0000H 8,000 0 8,000
OPCIAMUATINMZ SATHZ 2tA L Z0IEH0|
HE (22 A2 2H 0 0 5,000 25,000
OPQIAMUATIRNE £ATHH HILESE M
(22M AF2Y) A 0 0 10,000 210,000
301 LBtEAZ 5,900 6,000 2100
09 SHAIAHIXIRZ2 900 1,000 2100
OSAIL 319 0HF & NS SSHI(MIAEZ)
ZA 900,000 900 1,000 A100
S3IES Mo 1,943,363 1,858,363 85,000
] 172,771 172,771 0
= 299,947 298,447 1,500
Al 1,470,645 1,387,145 83,500
() SIS AMAA| S B A H DX 40,000 35,000 5,000
< 12,000 10,500 1,500
Al 28,000 24,500 3,500
402 QIZHXE0|H 40,000 35,000 5,000
[= 12,000 10,500 1,500
Al 28,000 24,500 3,500
02 DIZIXHE AL B X (0| ML) 40,000 35,000 5,000
O3IE|MAAIE B HOXIA
ZA 40,000,000 40,000 35,000 5,000
[= 12,000 10,500 1,500
Al 28,000 24,500 3,500
HA sty =4 317,000 237,000 80,000
402 QIZHXE0|H 317,000 237,000 80,000
01 SIZHRH= AL B R (KHHITHE) 317,000 237,000 80,000
ORSLE B2 K2 (2XS 50%)
ZA 220,000,000 * 14! % 50/100 110,000 80,000 30,000
Ot HeMED X (EXE 50%)
100,000,000 * 14! = 50/100 50,000 0 50,000
SHESHUAH| (RSB D) (DIEHIIEH 78,540 74,958 3,582
Jl=3H 78,540 74,958 3,582
Jl=3| 78,540 74,958 3,582
201 LBt=2HH| 18,516 18,138 378
01 At222IH 18,516 18,138 378
OSALZXl PUH| (M) (Z=ZDHH 2%5)
& 2,592,000 2,592 2,49% %
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A

sgJl=dE

M HH2AAH|(JSA =) (JIEHDIE
&2l D123l (el &=J)
S - B BR(S) - NRAY - BES PN plEL HimE==T
OS20AEI(ZZ0IE 2552)
Z2& 6,804,000& 6,804 6,552 252
OJIEH AFRZ2IH(ZZDHE 252
Z& 810,000& 810 780 30
202 (44| 57,024 53,820 3,204
01 =LHOA LI 57,024 53,820 3,204
OBUOIBI(ZEMNE 2=
Z2& 38,880,000& 38,880 37,440 1,440
OZACBI(ZZINE 2E52)
Z& 18,144,000 18,144 16,380 1,764
SEFLD|BE M (sS4 =Y - 5&) 9,519,248 8,320,568 1,198,680
= 1,710,777 1,414,395 296,382
| 846,396 558,067 288,329
= 1,483,039 1,190,402 292,637
Al 5,479,036 5,157,704 321,332
A =4 1,946,316 1,762,576 183,740
Il 185,430 150,180 35,250
< 328,258 286,588 41,670
Al 1,432,628 1,325,808 106,820
(D)EASHAS AL XM KA 244,830 250,020 25,130
| 81,630 83,340 A1,710
o= 48,978 50,004 1,026
Al 114,282 116,676 A2,3%4
301 LEEH S 244,890 250,020 25,130
| 81,630 83,340 21,710
< 48,978 50,004 A1,026
Al 114,282 116,676 A2,3%4
12 JIEtEAZ 244,890 250,020 25,130
OArelXl M|
23 60,000& * 4,535& = 90/100 244,890 250,020 25,130
Il 81,630 83,340 A1,710
< 48,978 50,004 21,026
Al 114,282 116,676 22,394
()=MEHAE BXFY K2 65,800 49,560 16,240
J| 28,200 21,240 6,960
= 11,280 8,496 2,784
Al 26,320 19,824 6,496
402 2I2EXHE01 M 65,800 49,560 16,240
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01 M=l 1,206,000 1,200,000 6,000
OsXE Bohs will 1
& 1,206,000,000& 1,206,000 1,200,000 6,000
= 603,000 600,000 3,000
Al 603,000 600,000 3,000
UxEH D23 34 268,750 273,881 75, 131
FEEESIESIT, 259,966 264, 121 A4 155
201 Et2&H| 35,164 38,034 22,870
01 At2teld| 6,930 9,800 22,870
Olt==AIEE LBt=ZH| 5,310 8,000 A2,690
—ABHRR MR (OOE)
& 1,620,000& 1,620 1,800 A180
—DAET OHRIZ ﬂ&(mwga)
25 450,000 450 500 A5
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sgJl=dE
SHH2AAHI(OI=X
Jl=3H

) (DIEHDIIEL)

SA - H . SR(BH) - MPAY - BES Ofl by plE<Ll AImE=ST
01 AFR2teld 24,205 26,894 2,689
O=SABA P (0AaEZ) Z2& 3,284,000& 3,284 3,648 A364
OS20AI (ol A=) 2 & 8,618,000 8,618 9,576 A958
OYBtA42(04HE) A 1,080,008 1,080 1,200 A120
OAR2 THPYBI(0I4E)
A 540,002 540 600 A80
OARE =HEBI(0AEZ) 9,657 10,730 21,073
—SADI(AE) 2=2ldl 2& 1,350,000 1,350 1,500 A150
—IElED| #=2ibl 2 225,000& 225 250 A25
—=SA| EH 2& 2,700,000 2,700 3,000 A300
—Zgly &l Z2& 4,500,000 4,500 5,000 A500
—pe-2| A 342,0002 342 380 :
—JIEt 22l A 540,002 540 600 A80
OIIEF AL RIZIHI (Ol ArE2Y)
2& 1,026,000 1,026 1,140 A4
202 Oid| 70,794 78,660 27,866
01 3LHOAYI 70,794 78,660 27,866
OIIENAD LREX OfHI(0IAH=) 70,794 78,660 AT,866
— 2ol 2 49,248,002 49,248 54,720 N5, 472
— 2l 04| A 21,506,0002 21,546 23,940 ~2,39
203 SRF&| 3,780 4,200 2420
04 ENSYARETY| 3,780 4,200 2420
ORNSYLLEZHI (IS (A=)
Z2& 3,780,000& 3,780 4,200 2420
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